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HR HR HR HR HR HR —
138 0 BRER
2;8 2 2 HRER
4|38 4 6 HRER
Blam 6 12 HRER
558 12 HRER
B 12 12 0 0 0 0 0 HRER
138 12 HRER
2;8 8 20 HRER
5 | 38 6 26 HRER
Blam 26 HRER
558 4 30 HHER
B 18 30 0 0 0 0 0 HHER
138 30 HHER
2;8 4 34 HRER
6| 38 6 40 HHER
Rlaa 6 46 HHER
558 6 52 HHER
B 22 52 0 0 0 0 0 HHER




B EDEERE (REFHRIRERHR [(HKH2]

1 (ECR)BE: GRIRAB £5HAS) % (HR31~36
14AME (HR . {EH
(]
138 52 BHEE
2;8 52 BHEE
5|38 52 BHEE
Blam 52 BHEE
5:8 52 BHEE
B 0 52 BHEE
138 52 BHEE
2;8 52 BHEE
g |38 52 BHEE
Blam 52 BHEE
58 52 BHEE
E 0 52 BHERE
138 52 BHERE
2;8 6 58 BHEE
o |38 6 64 BHERE
Blam 64 BHERE
58 6 70 BHEE
E 18 70 BHEE




B EDEERE (REFHRIRERHR [(HKH2]

1 (ECR)BE: GRIRAB £5HAS) % (HR31~36
14AME (HR . {EH
(]
138 6 76 BHEE
2;8 6 82 BHEE
10| 38 82 BHEE
7 438 6 88 BHEE
5:8 2 90 BHEE
B 20 90 BHEE
138 4 94 BHEE
2;8 6 100 BHEE
11| 358 6 106 BHEE
. 438 2 108 BHEE
58 6 114 BHEE
E 24 114 BHERE
138 114 BHERE
2;8 114 BHEE
12| 3 114 BHERE
7 4;8 114 BHERE
58 114 BHEE
E 0 114 BHEE




B EDEERE (REFHRIRERHR [(HKH2]

1 (ECR)BE: GRIRAB £5HAS) % (HR31~36
14AME (HR . {EH
(]
138 114 BHEE
2;8 4 118 BHEE
1|38 6 124 BHEE
Blam 4 128 BHEE
5:8 2 130 BHEE
B 16 130 BHEE
138 130 BHEE
2;8 130 BHEE
> |38 130 BHEE
Blam 130 BHEE
58 130 BHEE
E 0 130 BHERE
138 130 BHERE
2;8 130 BHEE
5|38 130 BHERE
Blam 130 BHERE
58 130 BHEE
E 0 130 BHEE




B EDEERE (REFHRIRERHR [(HKH2]

1 (ECRR)EA: AB £EHA4) %R (HR31~36

AN FE - (HR : EH
(%]
48 12 12 0 0 0 0
5A 18 30 0 0 0 0
68 22 52 0 0 0 0
78 0 52 0 0 0 0
8A 0 52 0 0 0 0
9A 18 70 0 0 0 0
108 20 90 0 0 0 0
118 24 114 0 0 0 0
128 0 114 0 0 0 0
18 16 130 0 0 0 0
2R 0 130 0 0 0 0
3R 0 130 0 0 0 0
=) 130 130 0 0 0 0




